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1 BIES 1kg 1 |®ES 1keg
2 |E=Ef2 1kg 2 |EE Rl 524| 1kg 2,700 1,458
3 KAahD 1kg 3 KA | #aFkil 124| 1kg 1,080 810
4 |&F Ri%-123 250] 1kg 702 389 4 |=1F 1keg
5 &L Ei& 71| 1kg 3,132 1,026 5 |HL kg
6 |LvbL 250 120] 1kg 324 216 6 |LvbL 1kg
7 |[FRHVA | E-FE 96| kg 972 7 330 Tkg
SAE dbiEE 1,040 1kg 2,970 1,026 8 |SAFE kg
9 |3Y SR 314 1ke 3,132 950 9 | kg
10 |&ZL B 180 kg 756 324] 10 [&2ZL 1kg
1 |28 Ri& 15| 1ke 972 11 |h28 kg
12 |f=Ly EBE-=& 476] ke 1,404 918| 12 |f=Ly kg
13 |[FFL 1kg 13 [[FFH 1kg
14 |[hhiy 1kg 14 |Ahis Tkg
15 [OH& 1keg 15 |[U5&® BS 7| kg 4,320 3,024
16 | A2 dmE-mE 44| kg 3,132 16 |AIZ 1kg
17 |2Y I 4 7] kg 1,998 17 |ZU 1keg
18 | YLy Tkg 18 | YLy Tkg
19 |1=2 dbiEE 14| 1kg 3,456 2,916| 19 |[f=C kg
20 | Tkg 20 |vE Tkg
21 |HaY Z50 20| 1kg 2,160 21 |BHEY 1kg
22 |XARHW 158 22 | RAHY | IKE 91| 155 5,400 540
23 |BEHD |BH-mE 166] 1ke 2,700 2,268| 23 |EEHP 1keg
24 | E B4 hE 340| kg 4,860 3,780| 24 |54 1kg
25 |ISLFEF 1kg 25 |ISLFEF 1keg
26 |HFES 1kg 26 |HFES 1kg
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S| @A E | BEke| B | SfE | PiE | RE | 5| &8 B | BEke | HiL| BB PiE | RiE
1 |&aST Y7 -7Y 437] kg 2,808 918| 1 |E=I+ JYI—-7) 502| 1kg 1,512 972
2 |AhIz ny7- B 155| 1kg 4,752 4320 2 [ExE 91— 312| 1kg 1,318 972
3 MAY  |hiy-mvy 852| 1kg 4,860 2052] 3 [ESAFE | deimE 155| 1ke 1,588 1,296
4 [hFLDL|[B1R-F3 124| 1kg 1,134
5 |FAHL  |mi-BiR 548| 1% 335 130
6 [ bYDHA ZH 175 1kg 2,700 2,484
1_|IhNEF Tkg




